Year 8
Homework C 

NO CALCULATORS ARE TO BE USED, you must show all workings.

	1. Double 43

	2. Write down all the factors of 16

	3. What is the square of 5?

	4. Estimate the answer to 20.1 x 1.9

	5. What is the mode of the following numbers?    5, 1, 7, 3, 7


	6. What is the mean of the following numbers?    1, 3, 7, 5


	7. Work out the answer to 6 + 10 ÷ 2

	8. Work out the answer to 2.63 + 1.42


	9. Simplify 
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	10. What is 0.75 as a percentage?


	11. What is 0.5 of 40?

	12. Increase 50 by 20%

	13. Divide £300 in the ratio 2:3


	14. Round 1.4635 to three decimal places.

	15. Round 0.0561 to one significant figure.


	16. What is the reciprocal of 2?

	17. What is the area of this rectangle? 


   3 cm

                   7 cm

	18. What is the area of this triangle? 

   6 cm

             3 cm

	19. Use the fact 524 x 36 = 18864 to answer

                                                           18864 ÷ 36 =



	20. Multiply 3 by 0.2
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